Outsider review of the match against Nuts & Bolts 
1/ Open room: West has really strong hand, 17 hcps and formally 5, really 4,5 losers, so after 1H opening and passed partner’s 1S response jumped to 3H – partner accepted the invitation and bidded 3NT. Declarer had 7 tricks from the top (5-2 in red suits), and quite lucky H split, while South had QJ and North 10xxx. South led spade jack – and declarer ducked with KQxx in hand… 
This was a great mistake. Declarer didn’t realized (He didn’t ask and didn’t look up our CC that we play „J denies”
Then South could to switch (maybe 2 of spades was a Lavinthal signal? ),
Nope. It is not possible to give a Lavinthal to trick 1, if you play attitude as first priority. You cannot siganl 2 different things with 1 card. The 2 was „dislike spades”. I saw no future in spades (declarer holding KQ behind my A) and suggested partner a switch. Beware: A signal is alwaysan information never command. And Yvon made the „obvious shift” to clubs.
 and because declarer had only one club stopper, had no time to establish hearts. When pulling diamonds, Al genially discarded the winner C10 
There was nothing genial only counting declarers tricks: 5D+1C+2H=8 If decalrer holds the heart Q he has 9  tricks from the top. As I’m looking at 10 hearts in dummy and my hand. I’m the only one, who can stop the hearts. So it was automatic to throw the winner. We had 3 tricks in the bag. Spade A and a heart summ up to 5 tricks and down 1.
just in time in order to keep 10xx stopper in hearts, so declarer went one down.
The correct line as I think: to get the first spade with king (we still need one plus trick), then a heart to ace. If South covers, dummy must duck (if not, the best play is ace, then low from dummy – mostly North will not cover, and South is not dangerous)!
Correct, but from the lead declarer must KNOW, that spade A is with his RHO (me ( )
Then the spade Q remains safe stopper (if no club switch): so declarer has 3-way chance. 1: the spade ace is onside (as it was), so Q is a sure stopper. 2: hearts are in 3-3, so after first ducking the suit is high. 3: after club switch the club Q will be the 9th trick.
Closed room: nearly same bidding (1NT instead of 1S). Same lead, but North solved our problem immediately, when ran into with ace and gave 2 sure top trick in spades to declarer( 
This hand is a strong argument for playing „Jack denies” in combination with „coded 9s and 10s)
10 IMPs for us – good start!
2/ Same bidding: East opened weak 2D (classic,  with AJ98xx) and the strong West asked for major fit at first with 2S; after 3D negative response 3NT was the end-station. In the closed room we missed the overtrick, when kicked off the heart ace instead of trying diamond finesse against the Q (which would have been good). 1 IMP for opps.
3/ Same bidding again (1D opening at North, 1S overcall of East, then 2C South, finally 2D North). Both declarers won an overtrick. Int he closed room West put jack into spade king lead – which would give an extra overtrick to declarer, who played a modified Bath Coup with ducking – but declarer made a mistake too, when pulled the last trump (jack), and did not played on chance of 1-1 shape of remaining hearts. So could not use the high heart at the end without club-ruff entry… Push board.
If partner leads the K against a suit-contract, it is never a good idea to play the J from Jx. Partner promises the Q. If you agreed to play the K from AK this an example why A from AK is better.
The J definitely shows the 10 in this situation.
If the A is led, you must analyze the complete situation, weather you signal hi/lo with the J or not.
4/ Open room: East opened 1D with a great hand; after West’s 1H North overcalled 2C (with weak hand, but he was passed, so this bid even without jump can show only a weak hand with good clubs – both were vulnerable). East simply bid the game with that very strong 5-6-1-1 shape hand – and made 13 tricks… 4H is a bad bid – either spade or club ace in partner’s hand, slam is cold. Possibly the 3C overcall was the best possibility of East after 2C (but I do not know their system, of course), which is GF and strength.
Closed room: opps let us speaking without interference, and we solved it well: 1D-1H, then splinter, RKC and the correct 6H (made +1, only club lead can restrict declarer to 12 tricks). 13 IMPs for us.

5/ Open room: East opened with 11 points balanced and only xxxx in spades (I dislike this opening). 
I dislike the opening too especially because the bad suit qulaity of the Ds. You know, I open very light, but I had passed this one. But I’m not upset if partner opens with 3QT. This is a close decision and anything maybe right or wrong.
South overcalled 2C with good hand, and made with correct play +2.
Closed room: East passed, so South opened 1C. After North’s 1D East produced a takeout double with 4-3 majors. 2C by South, and 2H by West followed; then South bought up the cntract with 3C and made. The interference helped us to find the heart lead and to get 3 fast heart tricks. That’s why we were better with one trick. 1 IMP for us.
6/ Both biddings ended in 4H after 1NT opening: Al and Yvon correctly described the hands (Jacoby-transfer, then side suit showing), while opponents in the closed room simply bid the game after Jacoby-transfer. I do not agree with these biddings, even if the final contract was OK: I prefer Texas-transfer with AKQxxx xxxxx xx -. The heart game where I want to be, nothing else, so simply would bid 4D as responder, then pass the obligatory 4H. 
What if partner holds Qxxx, xx, AKJx, Akx. Now 7D has more than 50% chance. My 3D was gameforce showing 5+H and 4+D and Yvon could cuebid with diamond support. :Why not test, if there is a super-fit? Even after Yvon’s 3H I could try 3S (which is now a Cue-bid after Hs are confirmed) !NT 2D 2H 3D 3H 3S 4C 4H Now Yvon can revalue his hand when he holds: xxxx, Jxx, AQJ, Akx (15HCP 4333)
Nothing to say about the play, 2 overtrick was OK. Push board.
7/ Open room: after 1C-1S E-W found the 3-5 spade fit via new minor forcing, and made with a bit luck (South’s doubleton KJ in diamonds). Perhaps I’d better (for psychological reasons) not returned a diamond after club Q, but heart from the Q was not attractive either.
Closed room: 1C-1S-1NT was the same, but our East simply raised to 3NT, which was a correct bid and contract too. We made +1. Push board. 
8/ Both 2H-4H. Al produced a nice squeeze for +2; opponent’s declarer play was not so beautiful, but caugth +2 too. Playing the same squeeze, only without Coup Vienna. Push board.
9/ Both North opened 1D – hmmm. 7-card suit, 9 hcps, 7 losers – hmmm-hmmmm(. East doubled, then Yvon (who knows well Al’s weaker opening style) at South bidded a disciplined pass with 4 hcps and a void in partner’s suit. West bidded a bit brave 3NT and made +1. In the closed room South tried 1H; after West’s 3NT North tried 4D – and went down 5 doubled, Miksa-Zoran’s excellent defence with very good switches and discards! 10 IMPs for us again!
10/ Both E-W reached 4H after South’s 1 and 2S overcalls. Opponents got +2; when they defended, we made = only because of the good lead and immediate spade ruff. Interesting, that either 4S or 5D sacrifice would have been good sacrifice (5D is impossible if North does not bid). 2 IMPs for opponents. Difficult decision to sac, because South has a lot of defense.
11/ Both N-S ended in 3NT. South opened 1H, but North had more – with a single H ace… Now 6H would be cold (and making 13 tricks because H in 3-3 and S king onside), but neither N-S could explore. The spade lead helped a bit, so opponent’s declarer made 13 tricks while we only 11. 2 IMPs for opponents. With heart 10 instead of the 6 South should rebid 3H not 2H (though only 14HCP, but LTC 4 and void in the right minor. Now 6H could be bid) 
12/ Open room: weak 1-level opening (Ax Qxx A1098x Qxx, bad 12 balanced) and too agressive response met each other… Yvon had 5-5-3-0, but only 9 hcps… So the 2S was passable (surely not 4, 3, but sometimes 2-card support only – as now). The penalty double arrived, then nothing to do, down 3 is real. I don’t like my opening, but 2 Aces and a 5-carder with nice intermediates I cannot pass this 12 HCP. Yvon should be aware of the misfit. His 2D was a misclick. We play CBS so 2D says: „Pass or correct” I thought long before correcting to 2S and was very astonished seeing partner bid 4S. Generally it is easier to play 5-2 instead of 4-3 minor with a weak hand. Yvon should bid an inviting 3D after 1Nt that would have ended the bidding.
Closed room: nearly the same: opps reached 5D, and could play it undoubled… Went down 2 only (Miksa: when partner leads a low H, on the dummy you see Qxx and you have AKJ10x, the jack is clearly enough!and the 10 is the correct card (lowest from touching honors)). 12 IMPs for opponents.
13/ Open room: North’s 1C opening was overcalled by West (2H), and East ended in 3NT. Al-Yvon’s correct defence was beautiful: contract went two down.
Closed room: I prefer this type of E-W bidding! After 1C West overcalled 1H, then East 1NT, West 2H (6+), and East 3H (mostly doubleton support, buti t was more than invitational strength so 4H is a possible option). West passed and made an overtrick. 9 IMPs for us.

14/ Open room: East’s 1D followed by West’s 1S. Then 2D, 3C (GF, I think), and 3NT is the final contract. This bidding marked the unbid H lead – which was the killer, one down.
Closed room: 1D-1S is the same. Then Miksa invited with 3D (only 14 hcps, but KQJxxx in D and single S ace – but 5 losers in C-H), and Zoran bidded a bit hazardous 5D with 10x support – but he had coverers of Miksa’s 3 club losers, quite luckily. Miksa played well against a perfect defense (they called trump to prevent dummy’s heart ruff). Miksa’s spade ruff-finesse was good, so he made 5D. 10 IMPs for us again – bravo, 53-17, a great win!!!
This hand has a lot very interesting aspects in bidding, defense and declarerplay and  inspired me to a teaching movie: 
www.albrecht-hollstein.de/Bridge/interesting%20hands/Best%20chance%20to%20win%205D.lin 
You did a very good job, teammates! Thomas
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